[ Efficiency vs vertpos |
~ 0.2

CTPTE SRR N S —
o F : : :

O L e R e e
Q
50.14
=
"50-12
0.1
0.08
0.06
0.04F
0.02f--oorrt il T S

...............................................

................................................

...........................................

[RRRL RN RALF LARE LR

o J—‘-G- . T Loagiin
§ X
J_-l R -

0.95 ; :
1072 10 1

10 0?
TP vertr (cr%)

T T_original_low

T
TTfnewbranchfFowpt

_TT_original_lowpt_pLess
TT newbranch_lowpt_plLess

<4

DQ
DQ
Efficiend —— B3

N 0.7 -
L0.09------ -------- ........ .......
£0.08 SRR SR SN . DU S
> . . ; Jf { :

2 : : :
_90.07—

(8]
£0.06
o : : :
R o Nt R S
0.04f oo % ------ —
R L % :
002+l o
00k i L
e

0.95}

=30 -20 -10 0 10 20 30
TP vert z (cm)

Ratio

H
T

__,

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

0.0
P AN IO AU TR PR PR PR T

FRVS)

Ratio

I
A
%

1

T T
¥
D
*+i

09557215 <10

5 10 15 20
Sim. PV z (cm)

| "l
OlfF———f—————
o



	Contents
	Page 1


